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       ए       ा            ु                ी,  ु    15     ट   ु                      

                        , ए ट्य    क                             ए           

     !               ां                           .  ु                    रू 

     .        ष्ट     ु              ,                                    . 

                                                            ’         फु   ’ 
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 ु    ए  छ              ! 

      15     ट                            ु     ऊ                         ां   
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    ेंव्         ु       ु                           घ      ी,  

        ×   O  ै ी                               ?          

                    . 

 5 ×   ×     

4   o       

3 ×   o     

2       ×   

1     o   o 

  1 2 3 4  5 

                         

                                                                                                  
(1, 5)                   (5,1) 
                                                                                                  
(4,2)                    (2,4) 
                                                                                                  
(1,3)                    (3,1) 
                                                                                                  
(3,5)                    (3,3)              
  
 

  ट   हू   ुम्                    घ .                                 .            

               ?                                              म्     ?  

        ु                    घ . 
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          ा( 1596-1650) ह्य  फ्रें       ज्ञ                                .        

   ज्ञ ुद्ध      . ’La Geometric’     ु    1637                 .         भ         

 भ्                                                            .  

                       ि                                        उ          

    ,                             .  

               ा           ’                     ’ म् ट       . 

                      भ्              ा   ट              .  

  ुम्                फ         ई . 
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                                                   य्        ि           .  

                 म्     ..        X   Y                  .  

        छ             भ     O म्     .            ुम्              , 

                                     . 

 1)  X                      भ        उ       ध            ऋ         

              . 

 2) Y          भ                     ध      रु          ऋ        

             . 

 3)                            ां                                        

           म्     .        -          ों        श्       .  

      (                         क     भन्न         .) 

           ु                 उ                    हू. 
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                 ु       ु ि  ुम्               .                 

                                   रू                       

    .                                                      ि  

                        .  
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                    X                                .  

             ध     म्    ध .                रू        . 

       X              म्     . 

                                           ट    ा          ,             घ्  . 

 

 

X             : 

                       म्         

           ा                        ा 

        ट     . 

                 ध   x   y    

                        ट      , 

        रू          ी            

            . 
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                          Y                           .  

             ध     म्    ध .                 रू         

      Y                      .  

                                           ट    ा          ,             घ्  . 
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                  :   ु   1 

              AC     ै  ष्ट्ट्य     

   ? 

           A   C                       

      म्    ध .  

     ै  ष्ट्ट्य      AC      इ   

                               ? 

            ड्क्              ? 

        AC           म्         .  

 

     AC          : ...............   

(र   म्          ग्  उत्त      .) 

 

               QR             ध . 

      Y                                                             ष्ट्  ा      ? 
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                QD                  .  

             रू  X                                     ु          ?  

 ु      ष्ट्  ा     .  

 

                  :   ु   2 

              BN     ै  ष्ट्ट्य 

       ? 
 
           B   N          

                   म्    ध . 

     ै  ष्ट्ट्य      BN      

इ                         

         ? 

            ड्क्        

      ? 

        BN           म्     

    .  
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1)                        म्                    ा                        ा 

            ट     .                                     ध   x   y                          

     ट          रू          ी                        .        ुम्             . 

2)     O( 0,0),  A( 2,2) ,B( 4,4), C( -1-1), D( -3,-3)          ुम्        

                                  .  

       ए               ?  

                       ध       ध   ध  म्      ुम्                               

      ई .  
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     , x + y = 5                    ुम्                  . 

    म्         ट    ा     -                           .  

    x + y = 5   म्      x        + y              y        = 5 

                   x            क    घ्                 घ        

             y    क         .                 ड्य                  

       -                 .              म्                        

        म्     .                ा    . 

     

 

x 0 …. -1 

  y =  5-x   … 0 … 

(x,y) (0, ..) (.. , 0) (-1 , …) 

                इ                    घ्  .               x + y =5     ट    ा 

               . 
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      ,          -        y = 2x -1                          

             ा    . 

      
x 0 …. 1 

  y = 2x -1 … 5 … 

(x, y)        (0, …)          (.. , 5)  (1 , …)  

            ए           .                               ?     छ    

                 छ                     . 

 ुम्                                                     .     ु    

x+ y = 5   y =2x -1                          उ       .    उ       

 ुम्                            छ                     द्द     ु               . 
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 ु    ुम्     ए                                    . ुम्                   रू        

   ा    .         ुम्     ए  छ     ्    ळ्       .                घ . 

           रू   ुम्    ु         ए     छ    ुप्त        ु                        .  
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       (-3,-1) (4,0) (2,0) (1,2) (0,-4) (4,0) (3,-2) (0,0) (4,3) 

       

    

              

(4,0) (1,2) (-2,4) (4,-3) (4,0) (1,2) (0,-2) (0,3) (0,0) (-4,3) 
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       (-3,-1) (4,0) (2,0) (1,2) (0,-4) (4,0) (3,-2) (0,0) (4,3) 

       

    

 W E  H  A  V  E  D O N 

(4,0) (1,2) (-2,4) (4,-3) (4,0) (1,2) (0,-2) (0,3) (0,0) (-4,3) 

 E A G R  E  A T  J  O  B 
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Exercise 

1  ु       श्न: 

   1)                                            . 

   2) X                  . 

   3) P (-5, -2)  ध   X                                         . 

2  ु       श्न: 

  1)    A ( m, -3 )         5x + y = 7                              

      m =     ? 

  2) ए                 ax + 3y – 6 = 0    .         C ( 3, -2 )         

                         a =     ? 

  3) 3x – y + 4 = 0                 ु             ा    . 

 

x 0 ……. 

y …….    7 

( x, y ) (0, …) (…., 7 ) 
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3  ु       श्न: 

  1)              1      = 1 ए           घ ऊ            A ( 2, -3 ),  

       B ( -4, 3 )   C (0, -1)             ए        ी  ै                   . 

  2)              1      = 1 ए           घ ऊ             y = 2x -3 

                             .                                    . 
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4  ु       श्न: 

  1)              1      = 1 ए           घ ऊ            x + 4y = 6 

                            .      A ( 0, 6 )                         

      क                . 

  2)              1      = 1 ए           घ ऊ            y = 2x,  

      2y = x , x = 3y                        .              ए        

              ?                                        . 
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Assessment 

1)    p ( a, b )            र्                   ु    ै ी       ध   ...... 

    a)  a ध    b ध   

    b) a ध    b ऋ  

    c) a ऋ    b ध  

    d)  a ऋ      b ध  

2)  ु    ै ी ...........        X           . 

    a) ( o , 3 )  

    b) ( -3, 3 ) 

    c) ( 3, 0 )  

    d) ( 3 , 3 ) 
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3)    N    y = 2x                      ु    ै ी .........     ध      . 

    a)  N ≡ ( 0, 2 ) 

    b)  N ≡ ( 2 ,4 ) 

    c)  N ≡ ( 4 ,2 ) 

    d)  N ≡ ( 2 , 0 ) 

4) ए                 2x + y – 4 = 0    .             ु    ै ी ........   

             . 

    a)  ( 1, 2 )   

    b)  ( 0 , 4 )     

    c)  ( 2, 0 )     

    d)  ( 2, 1 )    
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5)  ु             ै ी ...........               Y                  . 

   a)  y – 2 = 0   

   b)  2x + 5 = 0    

   c)   y = 0      

   d)  x + y = 0 
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